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BACHELOR OF COMMERCE 

(GENERAL) [B. COM. (G)] 

Term-End Examination 

December, 2024 

BCOE–142 : MANAGEMENT ACCOUNTING 

Time : 3 Hours    Maximum Marks : 100 

Note : Attempt Section A and Section B. Section A 

carries 40 marks and Section B carries  

60 marks. All questions carry equal marks.  

Section—A 

Note : Answer any two of the following questions. 

1. How is Management Accounting different from 
Cost Accounting ? Explain the functions 
performed by Management Accounting. 10+10 

2. (a) What do you mean by cost reduction ? 

Differentiate between cost control and cost 

reduction. 3+7 
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(b) You are given the following information : 10 

 (` ’000) 

PBIT 5,782 

Depreciation charged as per 

books (Revaluation) 182 

Depreciation as per Section 

205 360 

10% Preference share capital 1,500 

Past Accumulated Losses 1,200 

Transfer to Debenture 

Redemption Fund 150 

Unabsorbed depreciation as 

per Section 205 560 

Interest on loans and 

advances 252 

Transfer to general reserves  600 

Calculate profit available for equity 
shareholders, presuming tax rate of 40%. 
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3. Write short notes on any four of the following : 

4×5=20 

(a) Dupont Model of Financial Analysis 

(b) Sales Budget 

(c) Material Price Variance 

(d) Profit-Volume Ratio 

(e) Inflation Accounting 

(f) Social Accounting 

Section—B 

Note : Answer any three of the following questions. 

4. (a) From the following information, calculate 

gross profit, operating profit, PBIT, PBT, 
and PAT : 15 

 `  
(in ’000) 

Sales (Gross) 2,075 

Return inwards 15 

Return outwards 60 

Rent Received 25 
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Interest and Dividend on 
investments 35 

Direct Expenses 
(Manufacturing) 375 

Selling and Distribution 
Expenses 75 

Office and Administrative 
Expenses 150 

Purchases less returns 850 

Inventories (1-4-2022) 145 

Inventories (31-3-2023) 165 

(b) The following are the particulars extracted 
from the Balance Sheet of XYZ Ltd. on 
 31-03-2021. Calculate capital gearing  
ratio :  5 

 `  

Equity share capital 1,00,000 

9% Preference share capital 60,000 

Reserves and Surplus 20,000 

Long-term loans 1,20,000 
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5. (a) Explain in brief different types of  
budgets. 10 

(b) A company produces two products ‘A’ and 
‘B’ and budget at 70% level of activity for 
the year 2023. It gives the following 
information : 10 

 A (`) B (`) 

Raw material cost per 
unit 15 7 

Direct wages per unit 8 6 

Variable overhead per  
unit 4 3 

Fixed overhead per unit 12 9 

Selling price per unit 38 27 

Production and Sales  
     (units) 12000 18000 

The managing director proposed to 
decrease sales to 8000 units and 12000 
units of Products A and B respectively and 

increasing the selling price to ` 40 in the 

case of Product A and ` 30 in the case of 
Product B. 
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You are required to present the overall 
profitability under the original budget and 

revised budget after taking the above 
proposal into consideration.  

6. (a) Write a detailed note explaining the 

advantages and limitations of standard 
costing.  10 

(b) The following figures relate to the quantity 

of material required for the production of 
product : 10 

 Standard Actual 

 Quantity 

(kgs) 

Price 

(`) 

Amount 

(`) 

Quantity 

(kgs) 

Price 

(`) 

Amount 

(`) 

A 60 10 600 80 12 960 

B 90 20 1,800 60 25 1,500 

 150  2,400 140  2,460 

Compute : 

(i) Material Cost Variance  

(ii) Material Price Variance 

(iii) Material Usage Variance 

(iv) Material Mix Variance 
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7. (a) Explain the managerial uses of marginal 

costing. 10 

(b) State which of the following sales mix you 

would recommend to the management : 10 

Elements of Cost X (`) Y (`) 

Sale Price 200 150 

Direct Material 100 80 

Direct Labour 40 30 

Variable Overheads 20 20 

Fixed overheads : ` 1,00,000 

Alternative sales mix : 

(i) 2000 units of X and 2000 units of Y 

(ii) 3000 units of X and 1000 units of Y 

(iii) 4000 units of X and Nil units of Y 

8. (a) Sunrise Company has three divisions A, B 

and C. The investment in these divisions 

amounted to ` 2,00,000; ` 6,00,000 and  
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` 4,00,000 respectively. The profits in these 

divisions were ` 50,000; ` 60,000 and  

` 80,000 respectively. The cost of capital is 

10 percent. From the above data, comment 

the performance of the three divisions.  10 

(b) Define Kaizen Costing. What are the 

features and approaches to Kaizen  

Costing ?   10 
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      BCOE–142 

okf.kT; esa Lukrd (lkekU;) 

[ch- dkWe- (th-)] 

l=kkar ijh{kk 

fnlEcj] 2024 

ch-lh-vks-bZ--142 % izcU/ ys[kkadu 

le; % 3 ?k.Vs     vf/dre vad % 100 

uk sV % [k.M ^v* rFkk [k.M ^c* nksuksa dhft,A [k.M ^v*  

40 vad dk gS vkSj [k.M ^c* 60 vad dk gSA 

lHkh iz'uksa ds vad leku gSaA  

[k.M&v 

uk sV % fuEufyf[kr esa ls fdUgha n k s iz'uksa ds mÙkj nhft,A 

1- izcU/ ys[kkadu] ykxr ys[kkadu ls fdl rjg fHkUu  

gS \ izcU/ ys[kkadu ds }kjk fd, x, dk;ks± dk o.kZu 

dhft,A   10$10 
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2- (v)  ykxr eas deh ls vki D;k le>rs gSa \ ykxr 

fu;U=k.k ,oa ykxr esa deh esa vUrj crkb,A 
3+7 

(c)  vkidks fuEufyf[kr lwpuk,¡ nh xbZ gSa % 10 

 (` ’000 
esa) 

C;kt ,oa dj ls iwoZ ds ykHk 
(PBIT) 5,782 
iqLrdksa ds vuqlkj ßkl yxk;k x;k 

(iquewZY;kadu) 
182 

/kjk 205 ds vuqlkj ßkl 360 

10% iwokZf/dkj va'k iw¡th 1,500 

iwoZ lafpr gkfu 1,200 

½.ki=k 'kks/u iQ.M esa gLrkUrj.k 150 

/kjk 205 ds vuqlkj vuko'kksf"kr 

ewY;ßkl 560 
½.k vkSj vfxze ij C;kt 252 
lkekU; lap; eas gLrkUrj.k 600 

dj dh nj 40% ekurs gq,] lerk va'k/kfj;ksa ds 

fy, miyC/ ykHk dh x.kuk dhft,A 
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3- fuEufyf[kr esa ls fdUgha pkj ij laf{kIr fVIif.k;k¡ 

fyf[k, %   4×5=20 

(v)  foÙkh; fo'ys"k.k dk M~;wikWUV ekWMy 

(c)  foØ; ctV 

(l)  lkexzh ewY; fopj.k 

(n)  ykHk@ifjek.k vuqikr 

(b)  eqnzk LiQhfr ys[kkadu 

(iQ)  lkekftd ys[kkadu 

[k.M&c 

uksV % fuEufyf[kr esa ls fdUgha rhu iz'uksa ds mÙkj 
nhft,A 

4- (v)  fuEufyf[kr lwpukvksa ls ldy ykHk] ifjpkyu 

ykHk] PBIT] PBT ,oa PAT dh x.kuk 

dhft, % 

15 
 (` ’000) 

foØ; (ldy) 2,075 

vkUrfjd okilh 15 

cká okilh 60 
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izkIr fdjk;k 25 

fuos'k ij C;kt ,oa ykHkka'k 35 

izR;{k O;; (fuekZ.k lEcU/h) 375 

foØ; ,oa forj.k O;; 75 

dk;kZy; ,oa iz'kklfud O;; 150 

okilh ?kVkdj Ø; 850 

LdU/ (1&4&2022) 145 

LdU/ (31&3&2023) 165 

(c)  31&3&2021 dks XYZ Ltd. ds fpÎs ls fudkys 

x, fooj.k fuEufyf[kr gSaA iw¡th fx;fjax 

vuqikr dh x.kuk dhft, % 5 

 `  

lerk va'k iw¡th 1,00,000 

9% iwokZf/dkj va'k iw¡th 60,000 

lap; ,oa vkf/D; 20,000 

nh?kZdkyhu ½.k 1,20,000 

5- (v)  la{ksi eas fofHkUu izdkj ds ctV dk o.kZu 

dhft,A 10 
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(c)  ,d dEiuh nks rjg ds mRikn A ,oa B 
mRikfnr djrh gS vkSj 2023 o"kZ ds fy, 70% 

xfrfof/ Lrj ij ctV gSA ;g fuEufyf[kr 

lwpuk,¡ iznku djrk gS % 10 

 A (`) B (`) 
dPph lkexzh ykxr izfr 

bdkbZ 
15 7 

izR;{k etnwjh izfr bdkbZ 8 6 

ifjorZu'khy mifjO;; izfr 

bdkbZ 
4 3 

LFkk;h mifjO;; izfr bdkbZ 12 9 

foØ; ewY; izfr bdkbZ 38 27 

mRiknu ,oa foØ; 

(bdkb;k¡) 
12000 18000 

 izcU/ funs'kd us mRikn Øe'k% A vkSj B dk 

foØ; ?kVkdj 8000 bdkb;k¡ ,oa 12000 

bdkb;k¡ rFkk mRikn dk foØ; ewY; c<+kdj 

mRikn A dk ` 40 rFkk  B dk ` 30 Øe'k% 

j[kkA 

 vki ewy ctV vkSj mi;qZDr izLrko ctV ij 

fopkj djds la'kksf/r fd;s x;s ctV ds 

vUrxZr lexz ykHkiznrk izLrqr dhft,A 
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6- (v)  ekud ykxr ds ykHk ,oa lhekvksa dk o.kZu 

djrs gq, foLr`r fVIi.kh fyf[k,A 10 

(c)  mRikn ds mRiknu ds fy, lkexzh dh ek=kk ds 

lEcU/ esa vk¡dM+s fuEufyf[kr gSa % 10 

 ekud okLrfod 

 ek=kk 

(fdxzk-) 

dher 

(`) 

jkf'k 

(`) 

ek=kk 

(fdxzk-) 

dher 

(`) 

jkf'k (`) 

A 60 10 600 80 12 960 

B 90 20 1,800 60 25 1,500 

 150  2,400 140  2,460 

 x.kuk dhft, % 

 (i)  lkexzh ykxr fopj.k 

 (ii)  lkexzh ewY; fopj.k 

 (iii) lkexzh mi;ksx fopj.k 

 (iv) lkexzh fefJr fopj.k 
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7- (v)  lhekUr ykxr ds izcU/dh; iz;ksx dk o.kZu 

dhft,A 10 

(c)  fuEufyf[kr eas ls vki dkSu&ls foØ; feJ.k 

dks izcU/d ds fy, vuq'kaflr djsaxs \ 10 

ykxr ds rRo X (`) Y (`) 

foØ; ewY; 200 150 

izR;{k lkexzh 100 80 

izR;{k etnwjh (Je) 40 30 

ifjorZu'khy mifjO;; 20 20 

 LFkk;h mifjO;; ` 1]00]000 

 oSdfYid foØ; feJ.k % 

 (i)  X dh 2000 bdkb;k¡ ,oa Y dh 2000 

bdkb;k¡ 

 (ii)  X dh 3000 bdkb;k¡ ,oa Y dh 1000 

bdkb;k¡ 

 (iii) X dh 4000 bdkb;k¡ ,oa Y dh 'kwU; 

bdkb;k¡ 

8- (v)  lujkbt dEiuh ds rhu fMohtu A, B, vkSj  C 

gSaA bu rhukas fMohtuksa esa fuos'k Øe'k%  
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` 2,00,000; ` 6,00,000 rFkk ` 4,00,000 gSaA bu 

fMohtuksa dk ykHk ` 50,000; ` 60,000 vkSj ` 

80,000 Øe'k% gSA iw¡th dh ykxr 10% gSA 

mi;qZDr vk¡dM+ksa ds vk/kj ij rhuksa fMohtuksa 

ds izn'kZu ij fVIi.kh dhft,A 10 

(c)  dkbt+u ykxrkadu dks ifjHkkf"kr dhft,A 

dkbt+u ykxrkadu dh fo'ks"krk,¡ ,oa n`f"Vdks.k 

D;k gSa \ 10 
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